AMBER

JOHNSON
INSTALLATION INSTRUCTIONS

Product Revision Form
7160-1314 Rev. C INST-901

TOUGHBOOK L1/S1 TABLET CRADLE Printing Spec: PS-001

This instruction sheet is for the Panasonic Toughbook L1/S1 tablet cradle only. For
instructions on features, set-up, and operation of the Panasonic Toughbook L1/S1 tablet,
please refer to the manual provided by Panasonic with the tablet.

This cradle is designed to be used with a variety of Gamber-Johnson mounting systems.
Installation instructions for other Gamber-Johnson products are provided with each
individual product.

This instruction sheet is for the following products:

Item No. 7160-1314-04/14 Panasonic Toughbook L1/S1 Tablet Cradle

Product Mounting Disclaimer

Gamber-Johnson is not liable under any theory of contract or tort law for any loss, damage, personal injury, special, incidental or consequential damages for personal injury or other damage
of any nature arising directly or indirectly as a result of the improper installation or use of its products in vehicle or any other application. In order to safely install and use Gamber-Johnson
products full consideration of vehicle occupants, vehicle systems (i.e., the location of fuel lines, brakes lines, electrical, drive train or other systems), air-bags and other safety equipment is
required. Gamber-Johnson specifically disclaims any responsibility for the improper use or installation of its products not consistent with the original vehicle manufactures specifications

and recommendations, Gamber-Johnson product instruction sheets, or workmanship standards as endorsed through the Gamber-Johnson Certified Installer Program.

© Copyright 2017 Gamber-Johnson, LLC
If you need assistance or have questions, call Gamber-Johnson at 1-800-456-6868

175



FEATURE IDENTIFICATON

Barrel Key Lock

Release Button < ‘5 =
X\
@
Upper Walls——]

Provides docking guidance

and connector protection, @ @

prevents mis-docking | v '
| [

Lower Walls

/]

LGuide Pins

Bottom Cavity

VESA 75mm Hole Pattern
1/4-20 x 0.625" Bolts and _
1/4-20 Nuts Provided A N

AMPS Hole Pattern

\ #10-32 x 0.75" Bolts and
#10-32 Nuts Provided

‘-\

: : '\\\\\

o=

Tol

2/5




Barcode Reader Cover Options

Toughbook FZ-L1 Barcode Reader Cover

**Included in hardware bag**
Attach Barcode Reader Cover with
included two plastic screws
DO NOT Over-tighten

Toughbook FZ-S1 Barcode Reader Cover

**Bar code reader cover sold separetly**
Available at www.GamberJohnson.com
Part Number: 19943

Pinch Bar Code Reader Cover between

the back of docking station and mounting device
(Can be done using supplied hardware)

3/5



DOCKING AND UNDOCKING THE TABLET

TO DOCK THE COMPUTER

1. Insert the bottom of the tablet into the docking station.

2. Rotate the top of the tablet under the blue latch until the tablet is resting inside the main housing.
The blue latch will spring down in front of the tablet to hold it in place.

(Optional) For added security, with the dock in the "Latched" position, turn the lock to the "LOCKED"
position (Counter Clockwise).

S B

"LOCKED"
Position

\~’\\
s

//

! /l//)\\ \\ =
T l@‘

s——\

l.!')'l

TO UNDOCK THE COMPUTER

"UNLOCKED"
Position

2. Push upward on the Release Button with the thumb and pull outward on the top of the tablet until it
clears the blue latch. Lift the tablet out of the dock.

1. Turn the lock to the "UNLOCKED" position (Clockwise).

415



EU Autharised Representative:
P A Electronic Service GMEBH
Liebigstraiie 12

BI500 Scligenstadt

Hessen, Germany

Telephone; 44 6182 FET7-0

EN: Safety instructions for proper use

Precautions for Operating the Car Mounter

« If a Malfunction Occurs, Immediately Unplug the Car Plug and Remove the Computer From this product

» Use Only the Specified Car Adaptor With This Product

* Avoid a Lot of Water, Moisture, Steam, Dust, Oily Vapors, etc

» Portions of your car mounter may differ somewhat from the illustrations in the operating instructions, but this should present
no problems in actual use

For business users in the European Union. If you wish to discard electrical and electronic equipment, please contact your dealer
or supplier for further information.

Precautions for Installing the Car Mounter

« Do Not Install This Product in Unstable State
* Do Not Install This Product Wherever There is a Lot of Water, Moisture, Steam, Dust, Oily Vapors, etc

DE: Sicherheitshinweise bei einer ordnungsgemifen Nutzung

VorsichtsmaRnahmen beim Einsatz der Fahrzeughalterung

» Entfernen Sie beim Auftreten einer Fehlfunktion unverziiglich das Fahrzeugnetzteil und trennen Sie die Verbindung zwischen
Computer und dem Produkt

* Verwenden Sie nur das angegebene Fahrzeugnetzteil fur das Produkt

» Wasser, Feuchtigkeit, Dampf, Staub, 6lige Dampfe usw. vermeiden

» Einige Bereiche Ihrer Automontagevorrichtung kénnen von den Abbildungen in der Bedienungsanleitung geringfligig
abweichen, was fir die tatséchliche Nutzung jedoch unerheblich ist.

Fir Kunden in der Europaischen Union. Bitte treten Sie mit Inrem Handler oder Lieferanten in Kontakt, wenn Sie elektrische und
elektronische Gerate entsorgen mochten. Er halt weitere Informationen fir Sie bereit.

Vorsichtshinweise zum Einbau der Automontagevorrichtung

» Installieren Sie das Produkt nicht in instabilem Zustand
» Installieren Sie das Produkt nicht in der Umgebung von Wasser, Feuchtigkeit, Dampf, Staub, 6ligen Dampfen usw.

FR: Consignes de sécurité pour une utilisation correcte

Précautions d’utilisation de auto monter

« En cas de dysfonctionnement, débrancher immédiatement la fiche et déconnecter I'ordinateur de ce produit.

* Ne connectez pas au port pour réseau local un cable téléphonique ou un cable réseau autre que ceux spécifiés.

» Eviter le contact de I'eau, de 'humidité, de la vapeur, de la poussiére, des vapeurs graisseuses, etc.

» Certaines parties de votre auto monter peuvent différer quelque peu des illustrations imprimées dans les instructions
d'utilisation mais cela ne doit présenter aucun probléme lors de l'utilisation.

Utilisateurs professionnels de I’'Union européenne. Pour en savoir plus sur I'élimination des appareils électriques et
électroniques, contactez votre revendeur ou fournisseur.

Précautions a prendre pour l'installation de I’Auto monter

* Ne pas installer ce produit sur un support instable
* Ne pas installer ce produit en présence d’eau, d’humidité, de vapeur, de poussiére, de vapeurs graisseuses,etc.

RUGGED. RELIABLE. RESPONSIVE

3001 Borham Avenue, Stevens Point, Wisconsin 54487 — {+1) 715.344 3790 — gamberjohnson.com

An 120 3001:2015 Certified Campany




	Sheet1
	Drawing View24
	Drawing View31

	Sheet2
	Drawing View27
	Drawing View30

	Sheet3
	Sheet4
	Drawing View32

	Sheet5

